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34HKM, 0,03 |10,15—0.30 | 0.3—0,6 | 0,02 ] 0,02 - 33,5350 2,8—=3,2 | 28,5=30,0 — Oc- -
JMHKMI1 Tallb=-
HOE
ISHKXCIT | 0,03 0.8—1.2 | 0,3—0.6 | 0.02] 0,02 |1,8—2,2(35,0—37.0 — 27,0—29.0 - To xe -
40H 0,05 | 0,150,301 0,3—0.6 | 0,02 0,02 — 39.0—41.,0 - — He Go- » —
nee 0,2
40HKM, 0.03 He 6o- 0,3—0,6 | 0,02 0,02 — 39.3—40.7 | 3.8—4,2 [ 24,5—=26.0 — » —
40HKMI1 nee 0,30
45H 0,03 |10,15—0.30 | 0.6—1,1 | 0,02 0,02 - 45,0—46,5 - — He Bo- » —
nee 0,2
47THK 0,03 [0,15—0,30 | 0,3—0,6 | 0,02 0,02 — 46,0—48.0 - 22.5—-235 — » —
50H, 0,03 [0,15—0,30 | 0,3—0,6 | 0,02 0,02 — 49 0—350.5 - — He Go- » —
S0HIT nee 0,2
S0HXC 0.03 1.1—1.4 | 0,6—1,11] 0,02 0,02 |3,8—4.,2|49,5—51.0 — — He Bo- » —
nee 0,2
64H (65H) | 0,03 | 0,15—0,30 | 0,3—0.,6 | 0,02 | 0,02 - 63.0—65.0 - — — » —
6RHM. 0.03 He 6o- 0,4—08 | 0,02 0,02 - 67,0—69,0 | 1,5—=2,5 — — » —
68 HMI1 nee 0,30
TeHX, 0,03 [0,15—0,30 | 0,3—0,6 | 0,02 0,02 |1,8—2,2|75,0—76,5 - — 4.8—-5,2 » —
TTHMO, 0,03 [0,10—0,30 | He Go- | 0,01 | 0,02 — 75,5—T8,0| 3,9—4.5 — 48—6,0 » —
TTHMIOTI mee 1,4
TO9HM, 0,03 | 0,30—0.,50 | 0.6—1,1 | 0,02 0,02 - 78.5—80,0 | 3,8—4,1 — He 6o- » Turan
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SOHXC 0,03 1.1—-1,5 | 0,6—1,1 | 0,02 0,02 |2,6—3.0]|79,0—81.5 - — He Go- » Tutan
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